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1. Check -> Textbook - Page 238, PP #19-21

2. Work-Kinetic Energy Theorem
3. Textbook - Page 245, PP #22-25 - HW
4. Potential Energy

5. Gravitational Potential Energy - To Be Continued

6. Textbook: Page 250, PP # 27, 29

7. Work-Gravitational Potential Energy Theorem
8. Textbook: Page 254, PP # 30-33

9. Hooke's Law

10. Textbook: Page 258, PP # 35-37
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Positive and Negative Work -7,
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Doing Positive and Negative Work

Consider a weight lifter bench-pressing a barbell weighing

6.50 X 10 N through a height of 0.55 m. There are two distinct
motions: (1) when the barbell is lifted up and (2) when the barbell
is lowered back down. Calculate the work that the weight lifter
does on the barbell during each of the two motions.
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PRACTICE PROBLEMS
14. A large statue, with a mass of 180 kg, is lifted M7 ' YD k >[ .
\"4

through a height of 2.33 m onto a display

pedestal. It is later lifted from the pedestal
back to the ground for cleaning. |: J
(a) Calculate the work done by the applied Q W -
force on the statue when it is being lifted \,\r m CI
onto the pedestal.

(b) Caleulate the work done by the applied ( ( )
force on the statue when it is lowered \/\l = Lli,\ ﬁ-W 2I3}
down from the display pedestal. L{- | | 3 5

(e} State all of the forces that are doing work L\l < ' ‘D
on the statue during each motion.

7
-
15. A mechanic exerts a force of 45.0 N to raise %K ? ?!”'

the hood of a car 2.80 m. After checking the
engine, the mechanic lowers the hood. Find
the amount of work done by the mechanic on

3
the hood during each of the two motions. b) \(\J < l-|- \l x IU j
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Unit 3 - Work and Energy

Section 2
Types of Energy and Work-Energy Theorems

("9} (2)



Plan - D3 Th.notebook December 03, 2015

Types of Energy

7\

kinetic energy potential energy

( S uwe o Mo’h".)f” 4“9‘&)

gravitational elastic/spring
potential energy  potential energy

( Qae'\‘\'\'o'\) (424D

L4

mechanical energy = kinetic energy + potential energy
l J




Plan - D3 Th.notebook December 03, 2015

Kinetic Energy
(Page 236)

Check Units

P
L J K ( ww
E,=1mv? | MV I\ 2
Lo 9) 2 -
Lk
E, > kinetic energy (J) >

S
m -> mass (kg) K 9ﬂ M
5

v -> speed (m/s) >
a4

Chapter 6 Wark, Power, and Efficiency « MHR 237 5
MODEL PROBLEM

Calculating Kinetic Energy hockey puck at res! hockey puck in motion
A 0.200 kg hockey puck, initially at rest, is o O
accelerated to 27.0 m/s. Calculate the kinetic

energy of the hockey puck (a) at rest and

(bl in motion fal vi=0 (b} %= 27.0=

gy N TN
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Textbook - Page 238, PP #19-21— H.,)

238 MHE ¢ Unit 3 Momentum an
PRACTICE PROBLEMS

19. A 0.100 kg tennis ball is travelling at _
145 km/h. What is its kinetic energy? 4 h M= 0| b°k

20. A bowling ball. travelling at 0.95 m/s, has \’_ H_S'
4.5 ] of kinetic energy. What is its mass?
_7

21. A 69.0 kg skier reaches the bottom of a ski
hill with a velocity of 7.25 m/s. Find the
kinetic energy of the skier at the bottom of (
the hill. K

Ll
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1. Experiment 7.2 - Range of a Projectile

2. Text: Page 549, PP #13
Page 570, Prob. #17, 19, 20 (omit graph)

3. Worksheet: Projectiles - Problems /
oy Drc Hh
V.Chv | RC.

4. Assignment: U2 - S1 - Projectiles ->

5. Unit 2 - Section 2 - Circular Motion and Universal Gravtiation
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1. Assignment - Calculating Average Speed - To Be Marked
- 5 Days Late
2. Return Problem #15
3. Check #1 - Worksheet: Position-Time Graph -> HW - Complete
4. Velocity-Time Graphs

5. Worksheet: Velocity-Time Graphs -> To Be Continued

6. Comparing Velocity and Acceleration Signs
7. Sample Problems - Acceleration
8. Worksheet - Acceleration

9. Assignment - C10, C11 and C12
- Handout - Topics

10. Demo - Ball Toss

‘H" }s, V = ?lo.oﬂ?\ V - 3;.
A * 334’»»'] t
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